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M. Com. (First Semester)
EXAMINATION, Nov./Dec., 2017
Paper — 104
STATISTICAL ANALYSIS
Time : Three Howrs

Mmmum Pass Marks - 29
vomum Marks : 100 (For Private Students)
Minvmon Pass Marks : 34

Tt 0 T I | WA HEE | e 8l
Attempt all questions. Question
no. I 1s compulsory.

fF=1 arar gy & IW <if9d) (= 50

vl A 3w J ") -

5x5=25/6x5=30

Attempt any five questions. (Not

more than 50 words each)-

(1) A ST AHST &1 fafEu)
Write the both regression
cquations.
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(n)

(v)

http://'www.jiwajionline.com

(2 1T 6684
fgne faran g ) v aagem o
HEPIA N AN
loxplam Binomial expansion
method  with help of gy
cxample.
£ 2 3 e 01 5 i e VS ¢ T
What 1s mcant by consistence
ol data ? http://www.jiwajionline.com
faifafaa @t smafern 4 22 @ um
@l sgfaren #1 s wifso
(ab) = 150 (B) = 600
(a) = 400 b = 300.
Given the following  class
frequencies. Find out the
remaining class-frequencics—
(ab) = 150 (B) = 600
(a) = 400 b = 300
WA U9 fyd wedisn 7 o3 P
What do you mecan by

Independent and dependent

cvents ?
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(vi) “ﬂf\l}“}ll(z\l LY v & Ser
B 1%1"111 w4 oafeera fear S
gl ¢ ?

In how many ways can the
letters of  the  word
STATISTICALLY.

(vii) @nefsar W 1T ?

What is significance testing ?

(vm)urﬁr{mmaﬁmafawﬁ?ﬁﬁ ?
What is standard error of the
mean ?

(ix) TH-9F F g ?

What is F-Distribution ?

(x) @ faa &1 A 3,24 71 FA
feeria] &1 I HifoTT
The mean of the Poisson
distribution is 3.24. Find other
constants of the distribution.

Tamg -1
(Unit-1)
v Fa s faenfial & fod e (Y)
& Wi @ aferE (X) & gas 5

¥ - ey - I‘nrl.lnl
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TG AT 3Y - SX+108=0 =
Sray & ATEA WKH 44 7, 30 Hifers
F] Y@l F [T dEEd # w5
SR F9/16 B WISH F urdiF
Tgd qu <1 {99l % Wil # g TS
T 1 FHIT 12/14
For 50 students of a class the
regression equation of marks in
statistics (X) on the marks in
accountancy (Y) 1S 3Y - 5X + 108 = 0.
The mean marks of Accountancy is
44 and the variance of marks in
Statistics of 9/16th of the variance
of marks in Accountancy.

Find the mean marks of statistics
and the co-efficient of correlation
between marks in two subjects.

AT
(Or)
Wi 7 37 oafaqdl Y 9em &

I 7EA W 20 7 25 % B WA M
T F7q 8- o
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(5) T - 6654
Tl (%) ® A sffaadl F1 A
10 _ 4)
20 45
30 115
40 210
50 15

From the following data estimate
the number of persons earning
wages between Rs. 20 and 25~

Wages (in Rs.) Below No. of persons

10 40
20 45
30 _ . 15
40 210
50 IS
garg — 11
(Unit - 1I)

1 000 forenféal & ww @ 9 9 400 A
Fifm w1 1 Fer 500 faened 3ol g
forrdi 3 200 % Ffa W@ B T HIAC
fo 1 3 T eI 3R FHifET WD FA
R g € Ay el 12/14
In a population of 1,000 students the
number of these who attended a

. http://www.jiwajionline.com  P.T.O.
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coaching class was 400. Out of the
500 students who passed in all 200
had attended the coaching class.
Find out whether the two attributes
attending coaching class and
success are associated or not.

arear
(Or)
5 Fas T @Y 900 TR I W &1 AT
a7 fird S o S wen e e §
A ¢ 2| gufEm F AAE@ W TG HAE
fip 71 2 e g2 € 7
No.of Heads: 0 1 2 3 4 5
Frequency: 25 140 380 250 75 30 =900
A set of § coins is tossed 900 times.
" The numbers of Heads appearing
each time is given in the following
table. On the assumption of equal
distribution find out whether the
coins are balanced-

No.of Heads: 0 1 2 3 4 §
Frequency: 25 140 380 250 75 30 = 900
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sad - I
(Unit - IT)

(a) 52 W ) Al ) e ) a2 v

argfeod Ufd A @iF S &1 3 = 4
geyE g wifau fe 3 9 v
IEE © 3k g A .
From a pack of 52 cards two
cards are drawn at randonm. Find
the chance thatone is a king and
the other a queen.

(b) T dat § 50 R & fo W1 H 50 TF

F TR 02 ¥ TR df 9w R
it et &) 59 9 H e 9|

Fifere foF @it 78 T H HEeN 2 W 3
10 F T & | 6/7
A bag contains 50 balls

numbered from 1 to 50. One ball
is drawn at random. Find the
probability that the number of
the drawn ball is a multiplc of 2

or 3 or 10.
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Hqaqr
(Or)
q?aw’fﬁumarrqmmumﬁm#m,g
6 N THE WA 7Y 59 A fa
I HifAg '
Five dice were thrown together 96
times. Fit a binomial distributin
when 4, 5, 6 are supposed to the
SUCCESS. http://www.jiwajionline.com
s -1V
(Unit-1V)

e A H 1000 9= % IRf=F ey
400 =afea g s &1 B w182 9 800
el § 400 =FA T F sy E
7% S el Adaw B 3 7§ 3w
IAUA & <R F WUFA TH F
In a random sample of 100(1
from town 'A' 400 are_§
consumers of wheat,
800 from town B,
be consumers of |

. 4
data reveal a signt
http:.-".-’www.jiv-.*ﬂiunline,com
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Detween town N and town B so tar
as the

proportions ol wheat
consumer s concerned -
B

| () .

T AT Hﬁ'mi"ff | FT R

T fa=sies ow r"_ 21 “‘“:'ﬁ gl
=7 (1) 72 R

What should lhcrt_ h:. different test

Iumtrmv- for testing  the

sizntticance of difference In mean

when sample are (1) small and (i)
larae.,

=1

—
4|

EETE S T {1]

TFE -V
(Lmr-l-‘)

T TET ST T T -TE UHRS W 16 GAl o

IR &z ]
b )
}” 2.3
vy 2{)
M) 35
49 {]
36 H
H 46
S
41

VR ] 7 WA
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F7dl €l :
res are applled

Two kinds of manu
to 16 plots of one acre each other
conditions remaining the same, the

yield (in quintals) arc out below—

Manure-I Manure—II
18 29
20 28
36 26
50 35
49 30
36 44
34 46
49
41

9 plots 7 plots

Examine the significance of the
difference between the mean vields
due to the application of different

kinds of manures.
http://www._jiwajionline.com
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3rear
(On)
Tl % favemn w1 3y IR I guEE|
gy faverqu GRel 1 fmio &9 fF
Sl % R 39 W A v w9 A
Sl € 7
Explain the meaning and uses of
analysis of variance. How is an
analysis of variance table set up and
how is a test based on it performed ?
What are the the assumptions of the

test ?
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